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b. What is numerical apcrtud unO u.r.p*ance angtrfifup;ive an expression 
". 

ff##
aperture and maximura;cWptance angle in the o$#hf a step index optical fiber in terms of
refractive indices of coi6'%nd cladding material. _"**/ (06 Marks)refractive indices oJ cord%nd cladding material. . *d (06 Marks)

c. Calculate the nurnber of modes at 850 nm..qnd'1.2 pm in a GRIN fibre with aparabolic-
index profile, ou,Z, with core radius : 2r5,.'@rr - 1.5 and n2 = 1.49. (04 Marks)
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2 a. Discuss,lti&,i o9rtanc9 of.signal attenuation. Explain the three main mechanisms which

Seventh Semester B.E. Degree

Optical Fiber

Time: 3 hrs.
Note: Answer any FI

at least TWO

I a. Draw and explain the detai
other general type of

b.

;A' $fi" _

cause a,b$h*ption loss of optical eqe-I&),in fiber. dlb:! (08 Marks)
, dryw\.. r , r S..^-

st be launcled into the fiber to

width of the optical source.
ff

ii) *When the opticalffiWf generated r

*h#$' .** t*& '+'"o

fl,-,nDefure Fiber Optiffiplice. With the he,fil of neat diagranr, explain any two types of splicing
techniques. ,.. ,4r'

b.

c. s of meclaritOal misalignment, fiber related losses

rect to fiber-to-fiber ioints.preparation with re spect to.fib6r-to- fiber jo int s.

-}r
.d PART - B

Explain with h*P";;gjneat diagram, how the eye diagram is powerful measurement tool for
assessing data-'hdrrilling ability in a digital transmission system. (10 Marks)

Describe the #6dking principles of Burst Mode Receiver and Analog Receiver. (10 Marks)

4*"'- 
#tt"'.t'3 a. Derive the expr€ffin for internally geneiated power and 6ffii6ncy in a LED. (08 Marks)

b. Give the comparison between PIN' c and APD considerrng the different parameters.
* '" \*tJ (06 Marks)t:+4 \ \vv 1vr4r ^r/,

llium arsenide,ffi has a refractive index of 3.6.
itted into air ffiftjercentage of the internal optical power
ssion factorgt the crystal-air interface is 0.68.

ii) .,When the opticalffiff generated int*mally is 50% of the electric power supplied,

" . I determine the exteryral power efficiency," (06 Marks)

(07 Marks)
(04 Marks)

and fiber-end-face
(09 Marks)
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6a.
b.

What is rise time budget? Derive an expression for total

Explain mode-partition noise and chirping'

IOF,CITET2

time budget. (10 Marks)
(10 Marks)

7a.

b.

operational PrinciPle of WDM
(10 Marks)

Optical ad{/droP MultiPlexers
,w:5 (10 Marks)

lt -"s$s'" fl*%;x

e%= s
8 a. List the three possible configurrtffiStun EDFA. With relwaqt diagram"Pg'".Y3:,::

them. Atso derive *.*pr.riio*t&pbfn power conversio&-fffi.-,91tl1nd sai11i',Y:*:l
;;;r;il,hfuffi"-basic formats of an St'ffi{ SSNET frame, STM-N SDH

Sn urAtofofrber BLSR. d s (10 Marks)
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With the help of a neat schematic diagram, Sf'gTain the

--.:+L *..l+.i*li^olinn i- ^ononifrr of swsfcfrtL 'F.
system with multiplication in capacity of systq$- Y

describe the woiking of Dynamic Gai6 Equaliser and

(OADM). 
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